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[[=¥va K4 0 I G | HC | NET =¥ va K 4 0 I G HC NET (=¥ va K 4 0 1 G HC NET [[=¥va K4 0 1 G | HC = NET
1RH = 36 43 79| 8.8| 70.2 36 BEAER 36, 43 79 5.2 73.8 71 IR RACEAR 36, 48 84 8.8 75.2 106 P HESC 36 52 88|11.2| 76.8
2 HEES 36 41 77 6.4| 70.6 37 AP B 48 37 85 11.2 73.8 72 BILIER 36 48 84 8.8 75.2 107 R A%— 57 37 94/17.2| 76.8
3HH 5 39 37 76 5.2] 70.8 RIS N 5 36 49 85 11.2 73.8 3Rk [ES 36, 48 84 8.8 75.2 108 F&A ] 36 58 9417.2| 76.8
4 BEH AR 36 55 91/19.6| 71.4 39 LBy iEFn 41 37 78 4.0 74.0 74 HIFWIR 36| 47 83 7.6 75.4 109 FHEFHEN 36 45 81 4.0| 77.0
5 B dr R 5L 36 47 83/11.2 71.8 40 #8H Bk 47 37 84 10.0 74.0 75 & [l i 36| 47 83 7.6 75.4 110 AR — 36 51 87/10.0| 77.0
6 KH# 5% 36 46 82/10.0 72.0 417CE B5L 36 60 96 22.0 74.0 (GRS 46| 37 83 7.6 75.4 111 AR = 49 37 86 8.8| 77.2
750 B 36 39 75| 2.8 72.2 42 SEILBHE 40 37 77 2.8 74.2 T ANE R 46 37 83 7.6| 75.4 112 |l AT 49 37 86 8.8 77.2
8 Y P = 1F 44 37 81 8.8 72.2 43| P - Fnse 46 37 83 8.8 74.2 78 EHHSFNHE 52| 37 89 13.6 75.4 113 e &1 55 37 9214.8| 77.2
9 HH E= 44 37 81 8.8 72.2 44 ZHEH 46 37 83 8.8 74.2 79 HSF B 36| 53 89 13.6| 75.4 114 Bl BiE 36 56 92 14.8| 77.2
10 ARz 49 37 86/13.6 72.4 45 5 B i 36 53 89 14.8 74.2 80 fgMH K 36, 40 76 0.4 75.6 115 FHR NS 36 62 9820.8| 77.2
11 HEELREY, 36 43 79 6.4| 72.6 46 BEZHRT- 36 65 101 26.8 74.2 81 FHAFIAT 45| 37 82 6.4 75.6 116 A HEit BB 36 49 85 7.6| 77.4
12| B AR SE 36 43 79 6.4| 72.6 47) R 36 40 76 1.6 T4.4 82 A% E& 44| 37 81 5.2 75.8 117 A FHEEASE 36 55 91/13.6| 77.4
13| R 36 42 78 5.2| 72.8 48 RAAE 36 52 88 13.6 74.4 83 HESFARE L 36| 45 81 5.2 75.8 118 V4 HAEAT 36 61 97/19.6| 77.4
14 AKE BRI 41 37 78 5.2| 72.8 49 W H B A 36 45 81 6.4 74.6 84 B+ 50| 37 87 11.2 75.8 119 % 47 37 84| 6.4 77.6
15 FE OB 36 48 84(11.2] 72.8 BURES & 44 37 81 6.4 74.6 85 A A il 36, 51 87 11.2 75.8 120 g2k 36 54 90 12.4| 77.6
16| 25 M 5E 36 41 77 4.0] 73.0 51 BEF 36 51 87 12.4 74.6 86 HTHI 36 44 80 4.0 76.0 121 fnE1{= 36 54 90(12.4] 77.6
17 JREEE 36 41 77 4.0] 73.0 52 FE RS 50 37 87 12.4 74.6 87 LBk 43| 37 80 4.0 76.0 122 &g~ 36 60 96/18.4| 77.6
18 AR % 36 47 83/10.0 73.0 53 KHE 36 57 93 18.4 74.6 88 HFEHEA 49| 37 86 10.0 76.0 123 SFHELE 36 53 89/11.2| 77.8
19 @ ALIEHE 46 37 83/10.0 73.0 54| B H-fkt— 43 37 80 5.2 74.8 89 /N R FE A 36| 50 86 10.0| 76.0 124 HH—H 52 37 89/11.2| 77.8
20 )R 36 53 89/16.0 73.0 55 ek 36 44 80 5.2 74.8 90 /NFE IEE 49| 37 86 10.0 76.0 125 K5 & 36 52 88/10.0 78.0
21 HdB— 36 40 76| 2.8 73.2 56| KA e 1 36 50 86 11.2 74.8 91 FEAHERL 36| 49 85 8.8 76.2 126 #5H  H— 36 51 87 8.8 78.2
22 TR 45 37 82| 8.8] 73.2 57| FHHER 49 37 86 11.2 74.8 92 ATEZ 48 37 85 8.8 76.2 127 & 5 = 1 49 37 86| 7.6| 78.4
23 F 5 B Fn 36 52 88/14.8| 73.2 58 (AL — 36 56 92 17.2 74.8 93 111k 54| 37 91 14.8 76.2 128 - FpE R 55 37 92/13.6| 78.4
24 HEAFR 36 52 88 14.8| 73.2 59 FEAT 1% 36 37 73 -2.0 175.0 94 1hm BEEXC 36| 55 91 14.8 76.2 129 {4 #hE 36 56 92/13.6 78.4
25 Y )1 5L 44 37 81 7.6 73.4 60 TEARKR 42 37 79 4.0 75.0 95 fif AT 36, 61 97 20.8 76.2 130 [T 75 54 37 91/12.4| 78.6
26 FEHE A 36 45 81 7.6 73.4 61| A IE 42 37 79 4.0 75.0 96 /INR—EH 41 37 78 1.6 76.4 131 Al 55 kst 36 55 91/12.4 78.6
27 F E 44 37 81| 7.6 73.4 62 ARELAN 42 37 79 4.0 75.0 97 YRk BHEIE 47| 37 84 7.6 76.4 132 KK E 60 37 97/18.4| 78.6
28 TEIH fEK 36 45 81 7.6 73.4 63 i b HikE 36, 43 79 4.0 175.0 98 A% B 47| 37 84 7.6| 76.4 133 /NH & 1 2+ 53 37 90/11.2| 78.8
29 K 50 37 87/13.6 73.4 64 4 N HgE— 48 37 85 10.0 75.0 99 I k& 36 54 90 13.6 76.4 134 KRBT 36 60 96/17.2| 78.8
30 AR TEIR 37 37 74 0.4| 73.6 65 A E 48 37 85 10.0 75.0 100 R {R 36 60 96 19.6 76.4 135 AT 1 63 37 100/20. 8| 79.2
31 BRI 43 37 80 6.4 73.6 66 AT e 48 37 85 10.0| 75.0 101 A JFIEARE 58| 37 95 18.4 76.6 136 Mz T 36 73 109/29.2 79.8
32 ARMEA 43 37 80 6.4 73.6 67 FEF5LIA 36 61 97 22.0 75.0 102 PG 39| 37 76 -0.8| 76.8 137 (L &= 43 37 80-0.8| 80.8
33 A H 36 44 80| 6.4 73.6 68 M FH 36 73 109 34.0 75.0 103 114k =] 51 37 88 11.2 76.8 138 WAt FI| 8 54 37 91/10.0 81.0
34 AN 36 50 86 12.4 73.6 69 &1L A 36 48 84 8.8 75.2 104 F FNEA 36| 52 88 11.2 76.8 139 & HES 68 37 105/22.0| 83.0
35 fH T 55 37 92/18.4| 73.6 70 EEFR 47 37 84 8.8 175.2 105 #h | Al 36| 52 88 11.2 76.8 140 #JF Fnk 36 86 122/38.8 83.2
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